X

o

107

N
TTT

<3 @> (rad)
o
=
T

=]
i

0.05r {13

iH-
3 o
+

ol==F= ...

1 2 3
TP n (PCA to beamline)

0.05F

< d cot(B) >
o
[
[6)]

o

o
i

N
TTT

2 3
TP n (PCA to beamline)

—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPE_step2_ttbar-phasel-newgeom

—— DQM_pixelCPEChi20R_step2_ttbar-phasel-newgeom

<o dxy > (um)
S a
o . IO

w
o

N
(@)

=
o
III
—a
.
.
.
.

Ratio

0 1 2 3
TP n (PCA to beamline)

<op/p. > (%)

................................................

Ratio
PP
BN B
L

2 3
TP n (PCA to beamline)

—

100r

..................

........................

........................

.................

..............................

.................

..............................

i

TP n (PCA to beamline)



	Contents
	Page 1


